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Solutions / Oplossings 
 

PAPER 1 
 
Worksheet 1 

1. a) 2x2  3x  

 b) 2x2  x  

 c) 2x2 + 4x3  

 d) 2x2 + 4x3  

 e) 2x2  x 

 f) 2x2 + 4x3 

 g) 8x3  12x2y +6xy2  y3   

 h) x3 + 8 

 i) 8x3  27 

2. a) (x + 4)(x  3) 

 b) (x  4)(x + 3) 

 c) cannot factorise 

 d) cannot factorise 

 e) (x  4)(x  3) 

 f) (x + 4)(x + 3) 

 g)  (x  6)(x + 1) 

 h) 7(x  2)(x2 + 2x + 4) 

 i) 2(3  2x + 2y)(3 + 2x  2y) 

 j) (2x  y)(2x  y  4) 

 k) (x  2y)(2x + 4y  1)  

 l) (x  3)(x  4)(x + 4) 

 m) (x  2)(x  5)(x + 3) 

 n) (x + 1)(x  2)2  
 

3. a) 
)5)(5(5

3 2




xxx
x

 

 b) 
ba

baba

 22

 

 c) 
)2(

1




xx
x

 

 d) 
)1)(1(

12 23




xx
xx

 

 
Worksheet 2 

1. a) False 

 b) False 

 c) False 

2. a) 
4

9
  

 b) 
16

7
  

 c) 27 ¼  

 d) 
17

85
 

 e) 
16

1
 

 f) 64 

3. a) 2  

 b) 12 2  

 c) 4  

 d)  ½  

 e) 4 

 f) 23   

 g) 3 

4. a) 
2

2
 

 b) 
6

35


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Worksheet 3 

1. a) 1½  or 2 

 b) 1½ or 4 

 c) 5 

 d) 6 or 4 

 e) 4 

 f) 4½ or 3
2  

 g) 8 

 h) 3 or 10 3
2   

 i) no solution   

2. a) 3 or 4 

 b) no real solution 

 c) 
a

acbbx
2

42 
  

 d) 
)1(2

5841 2





m

mmx  

3. a) x = 2
3  

 b) 1,24 or 3,23 

4. a) (x 3)(x2 + 4) 

 b) (x  2)(2x  1)(x + 3) 

 c) (x  2)(x +7)(x + 1) 

 d) (x + 3)(x  3 )(x + 3 ) 

5. a) x = 4
3  or x = 1 or x = 1 

 b) x = 1 or x = 2  

 c) x = 1 or x = 6 or x = 2 

6. a) no solution 

 b) 2
3  

7. 1  2i  

 

Worksheet 4 

1. a) 5 

 b) 2,32 

 c) 2,86 

 d) 1,58 

 e) 1,75 

 f) 0,63 

 g) 16 

 h) 2 

 i) 5 

2.  P
A

in )1(log   

3.  1log )1(   x
Fi

in  

4. (1; 0) or (5; 8) 

5. a) (4; 2) 

 b) (1; 1) or ( 7
11 ; 7

13 ) 

 c) ( 3
2 ; 2

3 ) or ( 2
1 ; 1) 

 d) (0,5; 1) or ( 3
2 ; 3

2 ) 

6. a) x < 2
1  

 b) x < 1 or x > 2 

 c) 2
1  < x < 2

5  

 d) x  2 or / of x  3 

 e) 3 < x < 4 

 f) 2  x  4 

 g) 4 < x < 4 

 h) x  3 or / of x  3  

 

Worksheet 5 

1. 2; 3; 5; 7; 11; 13; 17; … 

 Product 1st; 2nd; 3rd; …  

 = 2; 6; 30; 210; 2310; …  

  Units digit is 0 

2. a) 90(0,7)5 = 15,126 m  

 b) 11 bounces 

 c) 510 m 

3. a) 29 

 b) 1; 5; 11; 19; 29; … 

            4 ; 6 ; 8 ; 10 ; … 
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               2;  2 ; 2 ; …  

   Tn = rqnnT







 21

2
 

  Substitute T1 = 1 & T2 = 5: 

   Tn = 0,5n2 + 2,5n  2 

 c) T50 = 1373 

4. a) 6  3 pool: 2(6 + 2) + 2(3)  

   = 22 

  8  5 pool: 2(8 + 2) + 2(5) = 30  

 b) m  n pool:  

  2(m + 2) + 2(n) = 2(m + n) + 4 

 c) m  n pool:  

  2(m + m) + 4 = 4m + 4 

 d) 49  49 pool  

 

Worksheet 6 

1. R27 228,80 

2. 5,9 years 

3. 9,62% 

4. P = F(1 + i)n 

 i = 1n

P
F

 

 n = 







 P
F

i )1(log  

5. a) 12,68% 

 b) R34039,80 

6. 29,3% 

 

Worksheet 7 

1. 
  

12
16,0

50

12
16,011

50000





x
 

 x = R1376,51 

2. 
  

k
r

nk
k
rx

F
11 

  

3. 
04,0

]1)04,1[(5000 20 
F  

     = R 148 890,39 

4. a) F = 2 400 000(1 + 0,16)5  

             = R 5 040 819,98 

 b) F = 2 400 000(1  0,22)5  

             = R 6 486 499,59 

 c)
 

  
12
16,0

60

12
16,0 11

61,1445679



x

  

   x = R15 880,39 

 

Worksheet 8 

1. a) 2 

 b) 360 

 c) [2; 2] 

 d) 2 

2. a) 2 

 b) x = 90 + k.180 

 c) 180 

 d) R 

3. a) 11 

 b) no x-intercepts 

 c) 2 

 d) R 

 e) [2; ) 

 f) x = 3 

4. a)  
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 b) x = 0 

5. a) & c)  

  

 b) 3  vertical stretch 

  Translation 2 units to the right  

  Translation 1 unit downwards  

 d) R 

 e) [1; ) 

 

Worksheet 9 

1. a) C(x) = 15
8 x + 236 

 b) C(2000) = R1302,67 

 c)  

   

 d) The rate that the cost change 
with respect to the units used. 

 e) Basic cost 

2. 

 

 

 a) x = 3 or x = 2 

 b) x  3 or ½ < x  2  

 c) 3  x  ½ or x  2 

 d) x = ½  

 

3. a) 

 

 

 b) x2  2x  8 = 0 

   x2  x  6 = x + 2 

   (2; 0) & (4; 6) 
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Worksheet 10 

1. a) A(0; 9) 

  B(1; 0) 

  C(9; 0) 

 b) OD = 5 

  DE = 16 

  AF = 10 

  HI = 20 

2. f (x) = 2 sin(½x) + 2 

 g(x) = 4tanx   

 

Worksheet 11 

1. m = 1  

2. a) m = 1 

 b) 
)1)(1(

2




aha
 

3. 8x  

4. a) f '(x) = 3x2  2x + 2 

 b) f '(x) = 
3

8
2

x
  

 c) f '(x) = 
xx 2

112
4



 

 d) f '(x) = 9x2 + 4x  4 

 e) f '(x) = 62
2

1
 x

x
 

5. a) y = 2x  3 & y = 2x  7 

 b) (1; 5) 

6. a)  

 

b)  

 

c)  

 

7. Volume = r2h h = 
2

350

r
 

 A(r) = 2(r2) + 2rh 

 A'(r) = 4r  
r

700
 

 r = 3,81 cm & h = 7,67 cm  

(1,3; 18,5) 

(3,7; 14,8)

(1; 36)

(1,67; 
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Worksheet 12 

1. a) B(0) = 1 200 

 b) B'(t) = 40 

 c) Decrease with 40 million per 
hour. 

 d) Shrinking 

 e) t = 6 

 f) 6 hours 

 

2. a) H(0) = 8 

 b) t = 2ºC or/of t = 20ºC 

 c) t = 14ºC 

 d)  

 

 

3. a) SR = (72  2x) m 

 b) A = 72x – 2x2  

 c) x = 18 m 

 d) A = 648 m² 

 

Worksheet 13 

1. a) x  10 

   y 0 

   y  2x + 60 

   y  x + 80 

   y  6
1 x + 10 

 b) y =  3
2 x + 3

1 P 

   Pmax at A(10; 70) 

   P = 230 units 

 c) 2 < m < 6
1  

   10 < c < 60 

 

2. a) 

    

 

 b) At the point C(6,8; 5,2) 

   6,8 ha maize & 5,2 ha 
sunflower

C (6,8; 5,2) 
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PAPER 2 
 
 

Worksheet 14 

1. nn 2
32

2
1   

2.  

5 100 n 

540 17640 180(n  2) 

108 176,4 
n
n )2(180 

 

3. 150 

4 a) 441,1 cm2  

 b) 412,6 cm2  

 c) 414,7 cm2   

 d) H = 91  

   r2 + rH  

   = (3)2 + (3) 91    

   = 118,2 cm2   

 e) (8)(6) + 

   )109)(8(2)116)(6(2 2
1

2
1    

   = 196,1 cm2   

 

Worksheet 15 

1. a) (6; 4) 

 b) t = 6 

2. a) x2 + y2 = 40 

 b) q =  2 

 c)  = 26,6 

3. a) (1; 2) & r = 20  

 b) mradius = 2 

  mtangent = ½  

  y + 6 = ½(x  3) 

  y = 2
15

2
1 x  

4.  mAC = 1 & mBC = 9
4  

  Angle = 45 + 23,9 = 68,9  

5. a) x2  8x + y2  4y   12 = 0 

 b) (0; 6); (0; 2)            

6. r = 2
3          

 

Worksheet 16 

1. (x  5)2 + (y + 1
2 )2 = 25 1

4  

        M( 5; 1
2 )   &  r = 5,025 

2. a) mAB = 3
2   

 b) e = 3 

 c)    3x + 2y  7 = 0 

3. a) 26 + 26 + 52 = 17,4 

 b) 11,3 

 c) (3,5; −0.5) 

 d) y = 0,2x + 0,2 

 

Worksheet 17 

1. a)  

   

 b) f (x): 180 & g(x): 360 

2. a)  
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 b) x = 135º ; 45º ; 45º ; 135º 

 c) 2  cosx = 2 + cosx  2 cosx  

  = (2 + cosx)  (2cosx) 

  x = 180º; 180º 

 

3. a) 

 
 

 

 b) 180º 

 c) x = 0º  

 d) 180º < x < 90º or 0º < x < 
90 

4. a = 2 & k = 1 

 b = 1 & m = 1 

 

Worksheet 18 

1. a) 1 

 b)  32  

 c) 3 

 d) 2 

 e) 3 

 f) 2 

2. a) t 

 b) t 

 c) 
21 t

t



 

3. a) 150 

 b) x  R 

 c) x = 46,3 

4. a) 12,3 ; 107,7 

 b) 212,4 ; 7,6 

5. a)  555 

 b) 
3

3
 

6. a) x = k.180 

  x = 30 + k.360 

  x = 150 + k.360 

  k  Z 

 b)  = 60 + k.360 

   = 300 + k360  

  k  Z 

7. Prove LHS = RHS 

8. 65
181  

 

61



 

Worksheet 19 

1. a) a = 5 or a = 3 

 b) Area = 310  

2. a) PQT ≡  PRT (SS) 

   PQ = PR 

 b) PQ = 
cos

y
; Use sine rule 

3. a) 12 

 b) sin 19 = 
TB
30

 

  TB = 9,77 m 

 c) 



 12sin

77,9

7sin

BC
 

  BC = 5,73 m  

 

Worksheet 20 

1.  

 

 

 a)  B'(6; 2); C'(2; 6); D'(2; 4) 

 b) 4 times BCD = 4y  

2. a) (x; y)  (x; y) 

 b) (x; y)  (x + 7; y + 5) 

 c) (x; y)  (x; y) 

 d) A'(4;6); B'(1; 2)  

  C'(3; 4); D'(7; 1) 

3. A'(6,2; 1,27) 

 

Worksheet 21 

1. a) (4; 5) 

 b) (5; 4) 

2. a) P'(1; 1); Q'(0; 2) 

  R'(3; 3); S'(2; 6) 

 b) P'(1; 1); Q'(2; 0) 

  R'(3; 3); S'(6; 2) 

 c) P'(1; 1); Q'(0; 2) 

  R'(3; 3); S'(2; 6) 

3. a) (x; y)  (y; x) 

 b) (x; y)  (x; y) 

 c) (x; y)  (y; x) 

 

Worksheet 22 

1. a) 10,82 

 b) 9 

 c) 9 

 d) 30 

 e) 7 

 f) 10 

 g) 317 

 h) 8,15 

 i) 66,4 

2.  
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3. a) i)   33 
  ii)  67 

  iii) 34 

  iv) 17 

 b) 

1-20 3 3 
21-40 5 8 
41-60 9 17 
61-80 6 23 
81-100 2 25 

c)  

  

 

d)  50  

 

4. a)  

 

 b) Linear 

 

 c) 3000 
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